
 
 

ЀЀЀЀЀЀЀ 9 Ѐ 10 (1 ЀЀЀЀЀ) 

 

I. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

1. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X  ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

1 2 3

1 2 3 ... ...

... ...k

k

p p p p

 
 
 

. 

ЀЀЀЀЀ ( ) E
Xz kz

X k
k

f z e p e= =∑  — ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  

 Ѐ) ЀЀЀЀЀЀЀЀ, ЀЀЀ ( )E 0X f '= . 

 Ѐ) ЀЀЀЀЀЀЀЀ, ЀЀЀ ( ) 2
D 0 EX f'' X= − .  

2. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X  ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ E X  Ѐ ЀЀЀЀЀЀЀЀЀ D X  Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ kI :  

k
k

X I=∑  

ЀЀЀЀЀЀЀЀ: ( ) 2
D E 2 E Ek m

k m

X X I I X
<

= + −∑ . 

3. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X , ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ( )G p .  

 ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ « k -Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ» (Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ X  ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ»). 

 

4. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X , ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ( ),Bi n p .  

 ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

 

5. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X , ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ( ), ,HG N K n   ( N   – ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, K   — 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, n  — ЀЀЀЀЀ ЀЀЀЀЀЀЀ).  

 ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀ 4, ЀЀ ЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ. 

 

II. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

 

6. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ξ :  

( ) ( )2

0, ЀЀЀЀ 2,

2 ,ЀЀЀЀ 2 3,

1,ЀЀЀЀ 3.

x

F x x x

x
ξ

<


= − ≤ <
 ≥

 

Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 2,5ξ ≤ . 

Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 2,1 2,6ξ< ≤ . 

Ѐ) ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ξ   ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ? ЀЀЀЀ ЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
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7. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ξ :  

( ) ( )2

0, ЀЀЀЀ 2,

2 ,ЀЀЀЀ 2 3,

1,ЀЀЀЀ 3.

x

F x x x

x
ξ

<


= − ≤ <
 ≥

 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ξ . 

8. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ξ  ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ:  

( )

( )2

1

x

x

e
p x

e

=

+

. 

Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Fξ . 

Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 0 ln 3ξ≤ ≤ . 

  

III. ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

 

9. ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ 10 ЀЀЀЀЀ, 5 ЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, 

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀ ЀЀ 10 ЀЀЀЀЀЀЀ ЀЀЀЀ.  

Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ; 

Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ.  

 

10. ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ» 20000θ =  ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ, ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. 

 

11. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀЀЀ θ . ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
 

12. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X  ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ( )2
;N µ σ . ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ:  

Ѐ) Xµ µ σ< < + ;   Ѐ) Xµ σ µ σ− < < + ;  Ѐ) 2 2Xµ σ µ σ− < < + ;  Ѐ) 3 3Xµ σ µ σ− < < + . 

13. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ
1
 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 101 ЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 5 ЀЀ. ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ 95 — 98 

ЀЀ. 
 

14. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ X  ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ( )0;1N . ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ( );a a− , Ѐ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 0,98: 

( )( )P ; 0,98X a a∈ − = . 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ.  

 

  

                                                           
1
https://ru.wikipedia.org/wiki/%D0%90%D1%80%D1%82%D0%B5%D0%BC%D0%B8%D1%81_%D0%A4%D0%B0%D

1%83%D0%BB_(%D1%81%D0%B5%D1%80%D0%B8%D1%8F_%D1%80%D0%BE%D0%BC%D0%B0%D0%BD%D0%BE

%D0%B2) 
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ЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Excel 

( )

2

21
ЀЀЀЀ.ЀЀ.ЀЀЀЀ( ;0) φ

2π

x

x x e
−

= = =   Ѐ      ( )ЀЀЀЀ.ЀЀ.ЀЀЀЀ( ;1) φ

x

x t dt

−∞

= = ∫ ,  

ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ µ   Ѐ 
2
σ :  

ЀЀЀЀ.ЀЀЀЀ( ;µ;σ; )x flag= ,  

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀ.ЀЀ.ЀЀЀ( )x a= = , ЀЀЀ ( )φ

a

t dt x

−∞

=∫  

ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ  ЀЀЀЀ.ЀЀЀ( ;µ;σ)x= . 

 

 

ЀЀЀЀЀЀ 

 

3. 
2

1
E ,D

q
X X

p p
= = . 4. E , DX np X npq= = . 5. 

( )( )

( )2
E , D

1

K K N K N n
X n X n

N N N

− −
= =

−
.   

6. Ѐ) 0,25; Ѐ) 0,35; Ѐ) ЀЀ ( )
0, ЀЀЀЀ 2,

2 4,ЀЀЀЀ 2 3,

0,ЀЀЀЀ 3.

x

f x x x

x

<
= − ≤ <
 ≥

. 7. 8 3 . 8. Ѐ) 
1

x

x

e
F

e
ξ =

+
;  Ѐ) 0,25.  

9. Ѐ) 5000   ЀЀЀЀЀЀЀЀ; Ѐ) ЀЀ 5000 500 3−  ЀЀ 5000 500 3+ , ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ  4134 — 5866 

ЀЀЀЀЀЀЀЀ. 10. ЀЀЀЀЀ 37%. 11. ln 2θ θ< . 12. Ѐ) 0,341; Ѐ) 0,683; Ѐ) 0,955; Ѐ) 0,997. 13. 0,1596. 

14. 4,653. 
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